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a)  Find the Thevenin equivalent of the above circuit relative to terminals a and b.

b) If we attach Ry, to terminals a and b, find the value of Ry that will absorb
maximum power.

c¢) Calculate the value of that maximum power absorbed by Ry ..
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Becawse we have = dependant  Scurte,
we  can Find ETh msing the Formyla
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Al-l:h-:w.ﬂh we have a4 aependent gource,
tre oV seurne  betuween the top and
lbodltem rails mokes the Sﬂ'LRﬁ and
zk.n r_'.n:-mpunen-ki'. irreevant.,

From an oater V-loop, we have
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Ry = Ry = 5o for max per transfer
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